
    

 
12302 Shiloh Church Rd. Houston TX 77066 Phone (281) 880-6322 - Fax (281) 880-6325 
 

 

 

 
 

PART NUMBER: C151MRDS 

PRODUCT: RDS BUMPER WITH 

MULTIMOUNT AND SKID PLATE 

APPLICATION: 2015 – C CHEVY         
                         2500/3500 

 

 

INSTALLATION: 
Step 1:  Using a flat head screw driver, remove all 12 plastic retainers in the OEM plastic shroud 

and set aside. 

Step 2:   Use a 10mm socket and remove the four screws in top of grill. Gently pull out grill to 

remove. Start at top by pulling up and then out. Then pull out on bottom.  Set aside. 

Step 3:   Using a 15mm socket, remove the 3 bolts from OEM bumper side brace. Set aside 

(both sides). Un plug OEM sensor/fog light harness. (If applicable) 

Step 4:   Using an 18mm socket, remove the four bolts holding on the OEM bumper. Set aside. 

Step 5:  Using an 18mm socket and wrench, remove OEM tow hook. (Both sides) 

Step 6:   Reinstall OEM grill and plastic shroud using OEM hardware. 

Step 7:   Using the OEM hardware, install the RDS bumper on to frame mounts. Do not fully 

tighten. 

Step 8:  Remove the lower A-arm nut from bolt. Do not remove bolt. (Both sides) 

Step 9:   Attach lower skid plate mounting bracket to the two OEM lower control arm bolts and 

tighten OEM nuts. 

                                              
Step 10:  Attach skid plate to lower mount and the two mounts in RDS bumper using the 

supplied  3/8” x 1” button head bolts, nuts, and washers. After bumper and skid plate is 

properly aligned, tighten all hardware. Your installation is complete. 

PARTS INCLUDED:                                                    QTY 

 RDS Replacement Bumper                                       1 
 Skid Plate                                                                    1 

 Lower Skid Plate mounting Bracket                       1 
HARDWARE PACK:                                                    1 

3/8” X 1” Button Head Bolt                                      6 

3/8” washer                                                                6 

3/8” Nut                                                                      6 

SKID PLATE 
  BRACKET 


